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L> with(LinearAlgebra) :
L 'Ex. 2.7 (Economics)  Question # 5

. The input-output matrix is

50 20 30 20 30 20 40 20 20
= < .
> AE<< 150> 180" 180 ~| < T60° 160° 160 | T20° 120° 120 =7
. 5 1 1
18 8 3
|1 3 1
=15 15 6
1 1 1
i 6 8 6 |
The demand matrix is
. |> Dmatrix =< 80,90, 60 >: J
' 80
Dmatrix = | 90
] 60
The output vector X is
( > Y:= (IdentiyMatrix(3) —4) "' )
. 162 36 72
101 101 101
_|208 944 22| =[1-A)
Y=\ 207 707 707 L ) :
258 192 990
i : 707 707 707 .
| > X:=Multiply (Y, Dmatrix); evalf(X); -
: ‘ 20520 |
101
] 117920
X 707
97320
L 707

(1-4)"D =

203.1683168 |
166.7892504
137.6520509 |
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